## VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

# Result Register (A.T.K.T. Exam.)

**PROGRAMME**: Bachelor of Management Studies (B.M.S.)

**EXAMINATION** : March - 2024

Sr. No.	Roll No.	Seat No.	Name	Planr	ness ning & preneu	-	nation nology siness	Managerial		Strategic Managemen t		Foundation Course (Environmen		Advertising		Consumer Behaviour		Total Marks	Sum CG	Credits Earned	SGPA	Grade
110.				IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75	IA 10/25	SEE 30/75		SEE 30/75	. Marks	00	2011/04		
1	174	SBMS22052	/ GUPTA AANCHAL SHIVSHANKAR POONAM	\$11	\$30	\$16	\$30	\$10	\$37	\$18	\$32	\$14	\$39	\$11	\$37	\$10	36	331	102	20	5.10	С
2	175	SBMS22054	/ GYANI PAVITRA VINOD DHARMISHTA	\$10	\$30	\$10	\$30	\$10	\$30	\$11	30	\$11	\$54	\$10	\$30	\$10	\$30	306	88	20	4.40	D
3	176	SBMS22057	/ JADHAV DHANSHREE RAMESH RUKMINI	10	\$30	\$11	34	\$10	\$30	10	\$33	\$10	\$30	\$10	\$30	10	\$30	288	83	20	4.15	D
4	177	SBMS22059	/ JADHAV SHRUTI BHAGWAN SHOBHA	\$10	\$30	\$10	\$30	\$10	AB	\$10	\$34	\$10	\$32	\$10	10	\$10	45	251	65	14		F
5	179	SBMS22071	/ KAMBLI KOMAL NILESH VAISHALI	\$10	\$30	\$11	\$58	\$10	30	\$11	\$30	\$10	\$34	\$10	\$33	\$10	\$30	317	92	20	4.60	D
6	185	SBMS22091	KSHIRSAGAR PRAFUL GANGARAM MANKARNA	\$10	\$30	\$11	\$30	\$10	12	\$13	\$31	\$10	\$30	\$10	\$30	\$10	\$30	267	68	17		F
7	187	SBMS22094	KURIAKOSE AARON BIN BIJI	\$10	\$30	\$11	\$30	\$10	30	\$11	\$32	\$10	\$30	\$10	\$30	\$10	\$30	284	80	20	4.00	D
8	227	SBMS22120	PATEL KRISHNA DINESH DIWALIBEN	\$10	\$32	\$12	\$30	\$10	36	\$10	\$30	\$11	\$30	\$10	\$30	10	\$30	291	83	20	4.15	D
9	197	SBMS22126	PATOLE MRIDULL AJITH MADHURI	10	\$30	\$12	\$30	10	30	\$10	36	\$10	\$30	\$10	\$30	10	33	291	83	20	4.15	D
10	208	SBMS22158	/ SAYYAD TARANNUM HANIF REHANA	\$10	\$36	\$11	\$40	\$10	\$30	\$16	\$31	\$14	\$37	\$10	\$30	\$10	46	331	105	20	5.25	С
11	213	SBMS22163	SHAIKH ABDULRAHIM ISMAIL NAZMA	\$10	30	\$10	\$30	\$10	16	\$10	\$30	\$10	\$31	\$10	\$33	\$10	52	292	80	17		F
12	214	SBMS22170	SHIRKE SHUBHAM SIDHARTH SHRUTIKA	\$10	\$30	\$12	\$30	\$10	30	\$11	\$30	\$11	\$30	\$10	\$30	10	\$30	284	80	20	4.00	D
13	219	SBMS22187	/ VALMIKI SHRISHTI MALLIKARJUN SUDHA	\$10	\$30	\$12	\$30	\$10	38	\$12	\$32	\$11	\$32	\$12	\$33	\$10	\$31	303	86	20	4.30	D
14	85	SBMS23014	/ DABHOLE SANSKRUTI DEEPAK POOJA	\$20	\$30	\$22	\$32	\$16	30	\$18	30	\$18	\$30	\$23	30	\$11	\$34	344	109	20	5.45	С
15	98	SBMS23041	KHADTARE YASH RAVINDRA JYOTI	\$11	\$36	\$18	\$38	\$11	30	\$11	\$30	\$11	\$30	\$15	\$30	\$13	\$46	330	104	20	5.20	С
16	99	SBMS23045	KHAN FARID SHER SANA	\$13	\$30	\$19	\$31	\$10	14	\$13	\$30	\$14	\$30	\$17	\$30	\$11	\$40	302	83	17		F
17	104	SBMS23055	/ MANDLIYA HARSHA RAJU RAMILA	\$19	\$30	\$17	\$34	\$19	39	\$22	\$30	\$22	\$30	\$20	\$30	\$13	\$33	358	117	20	5.85	С
18	105	SBMS23056	MANE SUJAL SANTOSH MANISHA	\$17	\$40	\$14	\$34	\$12	8	\$19	\$30	\$11	\$30	\$17	\$30	10	\$34	306	86	17		F
19	110	SBMS23066	/ NAYAK DIXITA GANESH SHEETAL	\$18	\$34	\$23	\$31	\$20	1	\$17	30	\$18	30	\$18	\$30	\$12	14	296	76	14		F
20	111	SBMS23067	NISAR BHAVIK DHANSUKH SHWETA	\$20	\$30	\$23	\$46	\$12	12	\$17	\$30	\$11	\$30	\$19	\$30	\$12	40	332	98	17		F

## VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

# Result Register (A.T.K.T. Exam.)

### **PROGRAMME**: Bachelor of Management Studies (B.M.S.)

**EXAMINATION :** March - 2024

	(Division)																						
Sr. No.	Roll No.	Seat No.	Name			Tech	nation nology siness	for		Managemen						Consumer Behaviour			Sum CG	Credits Earned	SGPA	Grade	
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE		00				
				10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75						
21	129	SBMS23068	ORANGATI GANESH CHANDU KOMAL	\$22	\$43	\$20	\$54	\$10	40	\$21	\$36	\$24	\$30	\$23	\$32	\$17	\$42	414	144	20	7.20	B+	
22	116	SBMS23075	PATEL KAUSHAL DAYASHANKAR USHA	\$16	\$35	\$16	\$54	\$12	30	\$13	\$30	\$15	\$30	\$15	\$35	\$11	\$44	356	118	20	5.90	С	
23	124	SBMS23105	VASVELIYA LUCKY KISHOR JIGNA	\$17	\$30	\$20	\$32	\$12	18	\$16	\$33	\$16	\$30	\$16	30	\$14	\$38	322	91	17		F	

## VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

# Result Register (A.T.K.T. Exam.)

**PROGRAMME**: Bachelor of Management Studies (B.M.S.)

**EXAMINATION** : March - 2024

			Name	Business Planning & Entrepreneu		Inform	nation		unting	Stra	tegic	Foun	dation	Corn	orate	Fou	ity &					
Sr. No.	Roll No.	Seat No.				Technology in Business				Managemen t		Course (Environmen		Finance		Debt Market		Total Marks	Sum CG	Credits Earned	SGPA	Grade
110.				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE		00	Lamou	ľ	
				10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75					
24	6	SBMS22017	BARIK GAURAV JAGDISH ANITA	\$10	30	\$10	\$30	\$10	30	\$10	\$30	\$10	\$30	\$10	\$30	\$10	\$30	280	80	20	4.00	D
25	15	SBMS22039	DEVENDRA IMMANVEL RAJA CHITRA	\$10	\$30	\$10	31	\$10	\$30	\$10	17	\$13	\$30	\$15	\$45	10	\$30	291	80	17		F
26	60	SBMS22085	KHATRI MEHEK JAYKRIT SINGH PUSHPA	\$12	\$30	\$10	\$36	\$10	30	\$15	\$30	\$12	\$30	\$12	\$30	\$11	\$41	309	92	20	4.60	D
27	27	SBMS22086	/ KHEDEKAR SONALI SUNIL MEENA	\$13	\$36	\$13	42	\$11	\$30	\$14	\$40	\$19	\$30	\$16	\$39	\$10	33	346	109	20	5.45	С
28	50	SBMS22151	/ SATKAR ASHWINI DAMODAR SHOBHA	\$11	\$50	\$16	45	\$12	\$57	\$16	\$31	\$12	\$37	\$18	\$53	\$15	\$38	411	142	20	7.10	B+
29	51	SBMS22166	/ SHARNAGAT SAYALI BHIMA ASHA	10	\$41	\$11	\$30	\$10	\$30	\$10	\$34	\$10	\$31	\$10	\$38	\$10	\$44	319	95	20	4.75	D
30	58	SBMS23003	ANSARI MD SAMIR MD IZHAR BB RESHMA	\$18	\$33	\$25	\$56	\$22	\$50	\$19	\$30	\$17	\$32	\$22	\$63	\$19	31	437	148	20	7.40	B+
31	18	SBMS23040	KATHERIA SIDDHARTH SINGH AMAR SINGH ISMITA	\$11	\$30	\$16	\$30	\$12	30	\$14	\$30	\$11	\$30	\$10	32	\$19	30	305	86	20	4.30	D
32	55	SBMS23082	SAHANI BALRAM RAJNARAYAN PRAMILA	\$19	30	\$24	\$30	\$17	30	\$12	30	\$14	30	\$11	30	\$17	30	324	95	20	4.75	D

## VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

# Result Register (A.T.K.T. Exam.)

### **PROGRAMME**: Bachelor of Management Studies (B.M.S.)

**EXAMINATION** : March - 2024

Sr. No.	Roll No.	Seat No.	Name			Tech	nation nology siness	for		Managemen				& Selection		t Organisation al Behaviour & HRM		Total Marks	Sum CG	Credits Earned	SGPA	Grade
1.0.				IA	SEE	IA	SEE	IA	IA SEE		IA SEE		IA SEE		IA SEE		SEE	indi Ko	00	Lamou		
				10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75	10/25	30/75					
33	88	SBMS22019	BEIG AYAAN BASHIRA BASHIRA	\$10	\$33	\$12	\$30	\$10	18	\$10	\$32	\$13	\$38	\$10	\$35	\$12	\$30	293	75	17		F
34	90	SBMS22033	/ DALVI DURVA ARVIND ASHWINI	AB	30	\$11	32	\$10	15	\$10	31	\$13	\$34	\$10	\$30	AB	34	260	46	11		F
35	130	SBMS22064	/ JAMAGI GAYATRI SURESH SUVARNA	\$10	\$38	\$13	\$34	10	\$30	\$12	\$30	\$18	\$30	\$10	\$30	\$15	\$33	313	91	20	4.55	D
36	101	SBMS22078	KHAN ABDUL MAJID YUSUF SAEEDA	\$10	\$31	\$12	\$30	\$10	30	\$12	\$30	\$10	\$30	\$12	\$44	\$10	\$30	301	89	20	4.45	D
37	109	SBMS22141	ROKAYA BHIM SHER SHANTI	\$10	35	\$16	\$34	\$12	\$30	\$10	\$38	\$16	\$30	\$12	\$30	\$10	\$30	313	94	20	4.70	D
38	116	SBMS22178	/ SOLANKI NAINA GANESH VIDYA	\$10	AB	\$11	\$30	\$10	\$30	\$10	\$30	\$10	\$30	\$10	\$30	\$10	\$30	251	68	17		F